Fittings, joints, spring plungers | Contents

Fittings
Joints

Spring plungers

www.fipa.com




mN

\“\v\\w\\\\\%ss
\“\\\\\“\\\\ \\\\\\\\\

Vacuum cup is plugged into the borehole of the fitting

77
= 5 2 = b
n (C] K] = o K <~ ff
= o © ©w o © Sl
v S B ® £
= N = [a}
o = = ol = =
m m
a =)
T £
i =} < = =) ™~
£ < B £ o < o
(=] I S & E S
< R S IR | =2
o | — | —
(W)
c
-+—
=
L
v s N
ISP o | o | —
(o))
(=)
c . E
u M = — | © N
(= _ S'L S'L
MJ m € ST € 4 rm\N
= \ -~ |~ \WN A
\\\ 72 \ \\\\\\\ [22] \w“\\\\\\ \\\\\\ \\\ ~ ~
(= SR ey i 0 - Eﬂz? < | -z
A o = N&\%\\\s_ z =\ S s == oic
S~ 7)) E " ) -
(2] m T o~~~ . A _
s C W n I 2 [
c < %] | v| W W i) 9] ©
o m— M B-) o o™ - =
o=y £ E
- — o BN === o = =
w 3 a
o) v — —
c® g S
© — r— [} O | — | 0 = [} <
e m c = N~ | N c = —
i) 0 .._m € 2i2|g m € P
o= M o i SRR o 3 N
L = S - N S = B 1

8

;
_

Phone +49 (0)89 /96 24 89 - 0

Thread G1
M4-male

Technical Data

Item no.
270.458

Thread G1
M4-male

Material in Motion

Technical Data

Item no.
270.111

FPA

446



18

v W
O
c E
= -
= un £
o = <
[=
© [¥e)
(S} — | ~
(%]
—
Q I
(w)] _ oL
c m S € ® S 8 2!
- = Lo ) S o) S
— = 200047 Hireceeec - vﬁv&\\\\ Aol
a : BB del— = |3 2 EEEEE
\\\\\\\\\\\\\ \_-IU 2 = .«««w««»@\\iﬁ&&x\i <
o= = S0 o S
o o
Q. - Kk - [k 2
v 3 ElE 3 £
5 s E 2|2 =B 2
= ° =
° m— ala ..Id
0 .K [« ™ | N .K [} ™M
= ] :HE £ H:
~ =] £ == o o S
(V) [ [~ |~ () [~
(w)) e = R sl — =N
c
—
-
Ll
a8 mf
M S’s
I \\\\\\\
z mm.\mwwwnﬂn
- i
/ W
= (] K o Y] “n
(%] o o =l o
o = = o B =
© ©
o (=]
© ©
- B = B
= -~ = S| =
[*] I o [*] I o
9 I = ) 3 =
= = il = = |

447

Material in Motion

FiPA

Thread G1
M5-male

Technical Data

Item no.
270.134

Thread G1
M5-male

Technical Data
Item no.

270.536
www.fipa.com



SL
4 S'L
.\\ 7
. Z\JF\\\I\RWV"\MQ © n \\\\\\\\\\“\W\\\\\\
= 9 ‘§§w\\\\\\\a\\ =
\\\\\ T \\\\\\\ \\
=
S} - v 3 5
(] (] (] ()]
W b=l © b= ©
= =
ol = = ol = =
m m
=) =)
© ©
2 - i N
(=]
£ m S = m "
< o
° I S 'l =
W I = | = I |
(W)
—
-+—
=
[
(%]
[ =
(o))
(=)
c
s
(=8
v_. 9L
(w))] n —
c v e L ~ | S 9
= - \\\\\\ 2N A 7777,
077720407777% \\§&§§ L \\\\\\\\\\\\\II © B n
= Solmm——h s Hal i s R 2
e oy e §557 § vz
o ) - e -
o 2 _ = - =
n o v (L] W v
* m— © © © [s=)
o 15 S 3 €
© m— = n = N
R o = = ol = =
w 3 a
) v — -
— o ]
c ] =
* — m m =} ” m o Hal
- = = - = = S
T o] I S =] E R
© m— () 8 ~ () [N~
[N M | = = N | = = J |

8

:

Phone +49 (0)89 /96 24 89 - 0

Thread G1
M5-male

Technical Data

Item no.
270.244

Thread G1
M5-male

Material in Motion

Technical Data
Item no.

270.443
IFPA

448



I

8

M5-male

ts, spring plungers | Fittings

=
(=]
—
-~
(%]
(=)
=

Fitt

/2

_E“!

w \\\ )

\\

\\\\\\

Sk

\\\

SoL

7

W

N

,\\ \\\
i=——cte— @3
%\\\\

\\\

\\\\

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

M5-male

270.010

M5-male

270.300

o 25

\\\\n

...,

M5

SW 8

)y & o

m\N

024

...... 722
S —

W23y

..... 2

M5

SW 8

W20 ;Q\\\\\.\\\\

-
—
A2

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

M5-male

270.037

M5-male

270.094

4

\B

Y

7777777227 \\\\\\\\\\\\&\

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
G222

x\\\\

n \\\\\\“\\\\\\\\\\\\\\\\\\ Y\\\ 7
[sa)
=2 -VL%\LT

Technical Data

Technical Data

@D [mm]

H [mm

Thread G1

Thread G1

Item no.

Item no.

M5-male

270.310

M5-male

270.200

M5-male 11

270.311

449

Material in Motion

FiPA

www.fipa.com



18

450

Fittings, joints, spring plungers | Fittings

M5-male | M5-female

12

Technical Data

Thread G1
Item no.

270.521 M5-male

M5

SW7

,5
14

Technical Data

Thread G1
Item no.

270.464 M5-male

Technical Data

Thread G1
Item no.

270.005 M5-female

FPA

Material in Motion

Technical Data

Thread G1
Item no.

270.463 M5-male

SW8

17

3,5

Technical Data

Thread G1
Item no.

270.347 M5-female

N

NN\

Technical Data

Thread G1
Item no.

270.382 M5-female

Phone +49 (0)89 /96 24 89 - 0



Fittings, joints, spring plungers | Fittings

215
M5
24 SW 13
n |
) | el
‘ |
| n
L. |
. T
26 @®
28

@ = Filter screen

Technical Data

Thread G1
Item no.

270.500-S M5-female

Technical Data

Thread G1
Item no.

270.104 M6-male

3,5
14

Technical Data

Thread G1
Item no.

270.339 M6-male

www.fipa.com

M5-female | Mé6-male

WITH FLOW _
CONTROL VALVE 15
............................. "
0,6 SW 13
wn el
[¥s} ‘ -
° Q6
08

Technical Data

Thread G1
Item no.

270.500-DRV  M5-female

ez

17

Technical Data

Thread G1
Item no.

M6-male

270.103

3,5
14

Q2

Technical Data

Thread G1
Item no.

270.340 M6-male

FFiPA

Material in Motion

451




()]
(@)}
c
=
=
L
(%]
[
(<Y}
(=)}
c
=
(=T
(=)}
c
=
(=¥
(%]
~
(%]
e

ings, join

tt

= - F
%% Mé6-male

M6

W\K

54

7
\\\\“\\\

08

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

M6-male

270.105

M6-male

270.373

4
7

0 \
7700000 \\ \
"I.
_l..
777

4777277222222 \\\\\\ \\\
-

Ly

M6

wwwwwwww\\\\\\\\\ \\

i

Technical Data

Technical Data

h1[mm] | h2[mm] |@D[mm]

mm]

H

Thread
G1

@ dn
[mm]

3,5

2D

H h1

Thread

Item no.

[mm]
1
10
10

[mm] [mm]

[mm]
14

1

1

Item no.

2,5 10
10

il
1

M6-male

270.459
270.460

M6-male

270.312/19

270.457

3

M6-male

5
6

M6-male

SW3

2,5

5

7

M6-male

270.461

«&»««»\\
w««&%‘\\

Vzzz7z77772

iz

“nn
)

M6

025

07
012

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

M6-male

270.315

M6-male

270.039

Phone +49 (0)89 /96 24 89 - 0

Material in Motion

FPA

452



Fittings, joints, spring plungers | Fittings

Technical Data

Thread G1 h1 [mm] h2 [mm] @D [mm]
Item no.
270.498 M6-male 5 6 15
270.499 M6-male 45 6,5 20

777757507

14

Technical Data

Thread G1
Item no.

270.314 Mé6-male

1

2

NN

§§ Sg <
L NN
e NN

Technical Data

Thread G1
Item no.

270.040 M8-male

www.fipa.com

Mé-male | M8-male

H M 6

S5

7777777777

15

G207

NS
R N

Technical Data
Thread G1

Item no.

270.254 M6-male

9
22

24,5

(1) = Material: PA6

Technical Data

Thread G1
Item no.

M8-male

270.378

£777777777777777%,
JTAZZ7772777772728)
7777777777777
rrrsssssssss20,

7
/
|

)
7
7

Technical Data

Thread G1 0D [mm]
Item no.
270.247 M8-male 12
270.255 M8-male 15
270.256 M8-male 18

FFiPA

Material in Motion

453




G1/8-male

()]
(@)}
c
=
=
L
(%]
[
(<Y}
(=)}
c
=
(=T
(=)}
c
=
(=¥
(%]
~
(%]
e

Ings, join
M10-male

tti

= - F
%% M8-male

M 10

10,5

SW 17

9 12,5

Technical Data

Technical Data

Thread G1

Item no.

Thread G1

Item no.

M10-male

270.177

M8-male

270.313

%

SW 14

\\\\\\\\\\\\\\\\\\\\\\\\\\ \

Wzzzz22 \\\\\

W77 77 7z

7
7

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

M10-male

270.512

M10-male

270.462

G‘I/8

s n_,luﬂm\\ 2
vz,

wmi o
_ﬂﬂ

G1/8

- -_Il

72077

SW 13

\Q\\\\\\c\\\:\t\a»v

.

el

7))

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/8-male

270.205

G1/8-male

270.033

Phone +49 (0)89 /96 24 89 - 0

Material in Motion

ssa FalPA



18

G1/8-male

6L

G1/8

(9]
(=)}
(o
=
.I.H
L
(%]
(5=
(V)
(=)
c
m
(=¥
(=)}
c
=
(=¥
(%]
~
(%]
[

‘\\\\\\\ 7 2 \\\\\\ T
%) \\ 7 \_\\\\\\\\\\\\\ \\\\&\N\\\V\\\\\\\\\\\
p .
s _— z _
z = [E = [E
© v © 0
g B : B
LR+~ RE Ll - RE
1o ©
cC (=] (=]
o— © T
2 4 <E 4 B
= ~N = -
-~ [*] I o o E
a) < R & R
o 1 — 1 — O
c
=
=
(5
07 S'LL
e = €€ <
S 19|59 = o S ¢y
< 4
o \\\\\\\ \\s\t\\ ; "% ® \\\\\\\
> -_I-"I M < @ Tl B S ZI.II \\lx
[C) v [S) — \\ =
7y e o1 Sz V)
i '
<
z S k= 5's 5 B = ke
7 o & © E W
¢ B ¢ K
m = © m = ©
(=) o
© ©
= o . 2 s
c I o I ©
< B S S £ 15
(] 8 ~ () [~
e = B e = I —

455

Material in Motion

FFiPA

Thread G1
G1/8-male

Technical Data

Item no.
270.242

Thread G1
G1/8-male

Technical Data

Item no.
270.009

www.fipa.com



%% Fittings, joints, spring plungers | Fittings

G1/8-male
® 61/8
M5 SW 13
n "
=) 9
‘_7 - a2
T <
ol N
~ T
82,5
95,5
96,5

@ = Material: POM

] Technical Data

Thread G1
Item no.

270.188 G1/8-male

Technical Data

Thread G1
Item no.

3,5
14,5

270.431 G1/8-male
— 016
G1/8
M5
SW 3
08

Technical Data

Thread G1
Item no.

270.250 G1/8-male

w6 FaPA

Material in Motion

Technical Data

Thread G1
Item no.

270.095 G1/8-male

Technical Data

Thread G1
Item no.

270.085 G1/8-male

(1) = Filter screen

Technical Data

Thread G1
Item no.

270.503-S G1/8-male

Phone +49 (0)89 /96 24 89 - 0



18

G1/8-male

ts, spring plungers | Fittings

=
(=]
—
-~
(%]
(=)
=

Fitt

G1/8
93

2
\\\\\\\\ :\N\\\w\\w
707 “
:::::%\\\ _

1]

SW 13

WITH FLOW
CONTROL VALVE

S
o '
0
b ?\\

36

“V//

\\~§~

08

215

3+

mMm
o
=
[

Filter screen

O]

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/8-male

270.064

270.503-SDRV  G1/8-male

\\\\\\\; \\\\ 71
7 \v\\\\\u -
\\\\\\ \\\\\ \\\\- ! rJ
kz777277+ \\\ 2

SW 13

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/8-male

270.147

G1/8-male

270.063

G1/8
035

[44

SW 14

7
\W\.\.\.\M“‘\\N\\\ \

I.

“W\\\\“w\\\ 22

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/8-male

270.543

G1/8-male

270.030

FFiPA

457

Material in Motion

www.fipa.com



Phone +49 (0)89 /96 24 89 - 0

=5
E
= o ~
S} ==
‘€
E
~ [¥a)
1= ~ | <
(74 H —
8 s I Iy E
7 = &
I \\\& . I N = ~N| ™
7777700772 7774752 RN
x f © NN
= [ |92 L EEEN
— AN -
- > | -~
© 8 L | & ® v =
i 2 c
= ==
Ry ™
= 7l @ jaal = | W
g o ks = & c Kk
= € a = E| E
[ < F < <
ol — o o ICARE
© )
(=] (=]
S G
q :E ] :HE
-
o 1= S o] £ I
< R 2 RS
o | — 1 — |
(W)
c
-—
—-—
L
(%]
[
—
(=8 oL
=) ¢
7,
o= (222
[ L i
a SER
o L )
(%]
v
A= 2 = - o
n o © = o ©
2 < : B
il = © © = 1C)
~ - -
o 17}
3 : -
= g g
o m— = = ~ = S B
) = = S = = <
) o I o o I o
© m— (] (8 ~ [J] L
[ = K [ = Kl

(N8

18

Technical Data

Technical Data

Thread G1

H[mm] |h1[mm] | h2[mm] | @D [mm]

Thread G1

Item no.

Item no.

G1/8-male

270.352

15
20

7

1

G1/8-male

270.486

17 4,5 6,5

G1/8-male

270.490

Material in Motion

FPA

458



Fittings, joints, spring plungers | Fittings

SW 19 r

12

Technical Data

Thread G1
Item no.

270.354 G1/8-male

24

2,5

Technical Data

Thread G1
Item no.

270.093 G1/8-male

G1/8
03
SW13

]

Q6

13

20

04,5

Technical Data

Thread G1
Item no.

270.478 G1/8-female

www.fipa.com

G1/8-male | G1/8-female

© sw17

Technical Data

Thread G1
Item no.

270.541 G1/8-male

G1/8

SW 14

-\.

7

N

722,
7%

v
7

22

N

7,

NN

Technical Data

Thread G1
Item no.

270.012 G1/8-male

G1/8  Sw14

18,5

Technical Data

Thread G1
Item no.

270.015 G1/8-female

FFiPA

18

459

Material in Motion




%% Fittings, joints, spring plungers | Fittings

G1/8-female

G1/8

SW 14

)

19,5

n
M’ ~
@5,5
07,5

Technical Data Technical Data
— Thread G1 Thread G1
-] Item no. Item no.

270.109 G1/8-female 270.110 G1/8-female
B 0135 61/8
T G1/8

SW 14 J =) SW 14

| N
R 5 § \ 2
‘ o DV ,
~] N ~
- 36 04,4
e 210 p6
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.114 G1/8-female 270.007 G1/8-female
B G1/8 G1/8
g3 SW 14 SW 14 02,5
Ln\
— ~ = i o 2
N [Ta)
" N o
in] " -l
~ ~. o
05,5
@75 08
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.096 G1/8-female 270.086 G1/8-female

a0 FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Fittings

G1/8-female

Technical Data

Technical Data

Thread G1
Item no.

270.494 G1/8-female

Thread G1 H [mm] h1 [mm]
Item no.
270.065 G1/8-female 18 4
270.061 G1/8-female 20 6

SW 13

\

07 =
D
Technical Data Technical Data
Thread G1 H h1 ThreadG1 | H[mm] | h1[mm] | h2[mm] | @D [mm]
Item no. [mm] [mm] Item no.
270.479 G1/8-female 11 2,5 270.485 G1/8-female 17 5 6 15
270.481 G1/8-female 13 3 270.489 G1/8-female 17 4,5 6,5 20
G1/8 G1/8
03’.8 SW 14 03,_5 SW 14
] ‘ ‘ m
x o \ 2
‘ B ‘ | ‘ 0
N | Q
1
[Ta)
il © e
- ~
26,5 08
210 013,5

Technical Data

Technical Data

Thread G1 Thread G1
Item no. Item no.

270.019 G1/8-female

www.fipa.com

270.020 G1/8-female

FFiPA

Material in Motion

461




%% Fittings, joints, spring plungers | Fittings

G1/8-female | NPSF1/8-female

SW 12
021
N N
@ = Filter screen
] Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.251 G1/8-female 270.501-S NPSF1/8-female
WITH FLOW
CONTROL VALVE 028
] - N\
: . .
3 \i& OO/ \":
b | ] &\\\\\\ “;
! a7,
211
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.501-DRV NPSF1/8-female 270.252 G1/8-female

WITH FLOW
CONTROL VALVE
N}
!
@ = Filter screen
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.502-S NPSF1/8-female 270.502-DRV  NPSF1/8-female

1 FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Fittings §%

G1/8-female | G1/4-male

SW 28
~N|
O
G1/8
V L) 1
==-=§\>\\5 o’o, 75
@ = Filter screen
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.092 G1/8-female 270.527-S G1/8-female
G1/8 G1/4
o N 0 P -
L \\\\\\\\i B w17 § § S
NI s N R& §\\\3 -
93,5 N Y ] 4
I
@& D) - .
\ : : j 85,5
L 0
Technical Data Technical Data
Thread G1 @ L [mm] @ B [mm] Thread G1
Item no. Item no.
270.439 G1/8-female 30 12 270.194 G1/4-male
270.440 G1/8-female 40 12
270.441 G1/8-female 55 12
G1/4
945
NN
SW 17 E§ §§ =
NN T
[oe)
09,5
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.534 G1/4-male 270.043 G1/4-male

www.fipa.com FIPA 463

Material in Motion



()]
(=)}
c
=
=
L
(%]
[
(<Y}
(=)}
c
=
(=T
(=)}
c
=
(=¥
(%]
~
(%]
e

ings, join

itti

F

2 10,5

777 &\\ Y, W7,

2

G1/4
@45

SW 17

Technical Data

Technical Data

Thread G1

Item no.

Thread G1

Item no.

G1/4-male

270.208

G1/4-male

270.113

G1/4

\\\

v

=
~
—
(&)

0>

V777202

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-male

270.451

G1/4-male

270.515

36,5

G1/4

mN

\

\:\&S o \\\N\\\\\\\

10 12,5

G1/4
04,5

,Y\\\\\\“‘\\\\ \\

SW 17

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-male

270.097

G1/4-male

270.044

Phone +49 (0)89 /96 24 89 - 0

Material in Motion

s6s IFalPA



Fittings, joints, spring plungers | Fittings

G1/4
045

4

SW 19

%

277
37

Technical Data

Thread G1
Item no.

270.049-1 G1/4-male

SW 20

Technical Data

Thread G1
Item no.

270.207 G1/4-male

Technical Data

Thread G1
Item no.

270.274 G1/4-male

www.fipa.com

G1/4-male
G1/4
04
] o~
SN -
)
Al
SW 19 -7
0 11,5
g 14
Technical Data
Thread G1
Item no.
270.101 G1/4-male
SW 17 G1/4
07
J e
)
o
mM
\ N
|
026
028
Technical Data
Thread G1
Item no.
270.438 G1/4-male

Technical Data

Thread G1
Item no.

270.359 G1/4-male

FiPA

Material in Motion

465




6C

43

e

7777

277%7

Ly Y
17

x\

\\\\\

77777

\\\

7722,
W,

€l

G1/4
&\\\E

()]
(=)}
c
=
=
L
(%]
[
(<Y}
(=)}
c
=
(=T
(=)}
c
=
(=¥
(%]
~
(%]
e

SW 17

ings, join

itti

F

18

\\\\\\\m\ o

\\\N

4"

\

08,5
912

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-male

270.204

G1/4-male

270.249

“§\\
“\\\\\\\\\ L

‘\5\5\5\\\

G1/4

SW 17

N

\\\\x\\ \\“\S

.“_““.d ©

g

G \\

G1/4

SW17.

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-male

270.190

G1/4-male

270.099

G1/4

G1/4

oN

4"

Z
_

\\\\

\

\\W\\\\\ 2

7
rril)

N
\a

\I

~NITRY]

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-male

270.034

G1/4-male

270.002

Phone +49 (0)89 /96 24 89 - 0

Material in Motion

a6 FalPA



Fittings, joints, spring plungers | Fittings §%

G1/4-male

T
SW17 w19 N I§
|
NN, F
~ X NN
!
Technical Data Technical Data
Thread G1 Thread G1 —
Item no. Item no. r—
270.213 G1/4-male 270.281 G1/4-male
sa o WIHROW | SV4
a 1 : D —
os |~ :  CONTROLVALVE i | 202
1 T L |
I o | b
SW 17 1 SW 17 1
{ o N ; of N —
I i I
1 ‘ ~ ‘{ i ™~
T 1le7s f 07,5
211 011
020 020 —
(1) = Filter screen () = Filter screen
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.506-5 G1/4-male 270.506-SDRV  G1/4-male
.............................. 6174
WITH FLOW / @
CONTROL VALVE
(=)}

SW 22
]
N \y < .
un) Eb
o T G
@ = Filter screen @ = Filter screen

Technical Data Technical Data

Thread G1 Thread G1
Item no. Item no.
270.504-S G1/4-male 270.504-SDRV  G1/4-male

www.fipa.com FIPA 467

Material in Motion



%% Fittings, joints, spring plungers | Fittings

G1/4-male

Technical Data Technical Data
— Thread G1 Thread G1
-] Item no. Item no.

270.483 G1/4-male 270.514 G1/4-male
] G1/4

%

Technical Data Technical Data
Thread G1 Thread G1 h1 [mm] h2 [mm] @D [mm]
Item no. Item no.
270.540 G1/4-male 270.487 G1/4-male 5 6 15
270.491 Gl/4-male 45 6,5 20
G1/4
04
_ G1/4
2 W RS
N NTTN T
~ NN 4
|
N
0105
015
Technical Data Technical Data
Thread G1 Thread G1
Item no. Item no.
270.175 G1/4-male 270.364 G1/4-male

ordering notes

Without drilling

s FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Fittings

G1/4-male

G1/4
94
)
0,
SW 6 R
~
913
0 20

Technical Data

Thread G1
Item no.

270.141

G1/4-male

23

Technical Data

Thread G1
Item no.
270.237 G1/4-male
G1/4
0‘ 4,‘5
SW 6 o
[¥a} ~
R
~
211
@ 25

Technical Data

Thread G1
Item no.

270.176 G1/4-male

www.fipa.com

G1/4

AN Z5 N

Technical Data

Thread G1
Item no.

270.210 G1/4-male

Technical Data

Thread G1
Item no.

270.145 G1/4-male

G1/4

SW5

7
i
é‘

?

7

<

///7,,,,m

PrAT

7

%
/
7
’
7
H

Technical Data

Thread G1 H [mm]
Item no.
270.182.U G1/4-male 10,5
270.183 G1/4-male 15

FiPA

Material in Motion

469




18

470

Fittings, joints, spring plungers | Fittings

G1/4-male | G1/4-female

Technical Data

ThreadG1 | H h1 h2 0 d1
Item no. [mm] [mm] [mm] [mm]
270.042 G1/4-male 25 1,2 10 13
270.184 G1/4-male 30 0,8 11 13
270.216 Gl/4-male 375 13 235 15,5
034

N

N
N

Technical Data

Thread G1
Item no.

270.100 G1/4-male

SW 19

)

(5

28

13

75

Technical Data

Thread G1
Item no.

270.434 G1/4-female

FPA

Material in Motion

Technical Data

Thread G1
Item no.

270.053 G1/4-male
G1/4
SW 14 2| ~
| <
~
o~
a6
010

Technical Data

Thread G1
Item no.

270.178 G1/4-female

Technical Data

Thread G1
Item no.

270.452 G1/4-female

Phone +49 (0)89 /96 24 89 - 0



18

G1/4-female

)
()]
c
—
=
L
(%]
(5=
v
(=)
c
=
(=1
(=)
c
=
Q.
(%]
~
(%]
e
=
(=)
o m—
-~
(%)
(=)
c
——
—
ke

G1/4

SW 20

@ 20

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-female

270.116

G1/4-female

270.098

727

\\\

SW 17

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-female

270.038

G1/4-female

270.275

6C

G1/4
[0

G1/4

SW 17

x4

0 6

SW 19

Technical Data

Technical Data

Thread G1

Thread G1

Item no.

Item no.

G1/4-female

270.192

G1/4-female

270.324

471

Material in Motion

FiPA

www.fipa.com



€0
vlE

\\\\\\\\ .

G1/4

M6
012

7

= =

G1/4
@ 15,5

& @ =
c B c z
© v - <]
o - [ © e
g I z < DS
= B G z = B G
m m
(=) o
S » S N
c 2 c 2
< 2 =l B
Y 7 R O 7 R
(V) s = K [N =~
(W)
(o
—
—-——
L
(%]
—
(aV)
(=)
c
= 17
8¢
Q 2 L€ 4 | 2
[ee)
=) z - z
c o S
.” = I| < gLz jad)
Q. N gl & mg , S} NS
%) ol e : 41 o, ©
A Z
[} ’ [
Ll 4 - = €¢ - =
c 45 (C] = ~ © =
3 : B 3 : B
o— g Z ¢ B
() © = 5 o = 5
[ r—— ....mT © ..NG.T O
oy E E
= & S S
- = = G s = 2
- N\ < c S = =
ommm (] (8 ~ [J] L I
L. O S =S ~ ) S ~ |

8

:

Phone +49 (0)89 /96 24 89 - 0

Thread G1
G1/4-female

Technical Data

Item no.
270.484

Thread G1
G1/4-female

Material in Motion

Technical Data
IFPA

Item no.
270.358

472



18

473

Material in Motion

FiPA

Thread G1

Technical Data

Item no.

270.505-SDRV  G3/8-male

v W —
[ g
cC £ =
= T = | o
— m [S] — | N
L m =
- O E . €C
B — Z o | o ~ L
) H -
() = | /
S < i = w7
c g M - RE D -
S € 7z : BE < 52 o
_ Y < " = @ 7 e
a VM e e = e &§ i
= 5 \\\\\\\\\\\\\3\ - BHE o
= = 2 2| & = ]
) - - 3 1
& : : HE o m
(%] o . © i 1 W =
o NN () NG 3 < :
< : B . = CEE
(%) S e e D . = c
m 1) 3 1 o]
= S = EE
o= = = S 2 2
2 -1 :HE 1 :E i~ 8] £
= = £ B = = - i : !
..)I 9 I R R ] I R ©
(w)) ) = EalE] . — = BN
c
—
e
,5
2
Jlor 174 =TI [ < N
=12 S g B
1]l =TT o
N
~ 4
= LL v L
[ — © — ©
[C] 1= = €
- K - R
¢ B ¢ B
Z Iy .
..m — () .m = (&) <
(=] o g
= S I = S ) =
Il H B ,_
o 3 IN 3 o R ©
e = B e = B I

Technical Data

Thread G1

Item no.

G3/8-male

270.505-S

www.fipa.com



18

474

Fittings, joints, spring plungers | Fittings

G3/8-male

@ = Filter screen

Technical Data

Thread G1
Item no.

270.507-S G3/8-male

G3/8

. N
12,5
15,5

SW8

AN
N

Technical Data

Thread G1
Item no.

270.326 G3/8-male

Ordering notes

Without drilling

SW 45

34

Technical Data

Thread G1
Item no.

270.526 G3/8-male

FPA

Material in Motion

WITH FLOW
CONTROL VALVE

@ = Filter screen

Technical Data

Thread G1
Item no.

270.507-SDRV  G3/8-male

36

Technical Data

Thread G1
Item no.

270.442 G3/8-male

Technical Data

Thread G1
Item no.

270.054 G3/8-male

Phone +49 (0)89 /96 24 89 - 0



Fittings, joints, spring plungers | Fittings

G3/8-female | G1/2-female

6
8|

T/,
72 72 <
]

Technical Data

Technical Data

Thread G1 Thread G1 .
Item no. Item no. 7

270.400 G3/8-female

270.402 G3/8-female

O m\l

(1) = Filter screen

Technical Data

Technical Data

Thread G1 Thread G1
Item no. Item no.

270.404 G3/8-female

www.fipa.com

270.528-S G3/8-female
270.529-S G1/2-female

FPA s

Material in Motion



E% Fittings, joints, spring plungers | Fittings

476

SW 30
SW 4 ﬁ
O (@)
o
(@)

wn
(=)}
|
110
G1
G1/8
L N ~
T | ~
@ [ AN B AN - N\J‘ ] @ o
DIAN [ C NN NC
@
(1) = Filter screen
Technical Data
Thread G1
Item no.
270.530-S G3/8-female
270.531-S G1/2-female

SW 25 -
N

10

3,5
\

1,8

Technical Data

Thread G1
Item no.

270.372 G1/2-male

FPA

Material in Motion

SW 38

SW 4

(1) = Filter screen

Technical Data

Thread G1
Item no.

270.532-S G1/2-female
270.533-S G3/4-female

. @
@

=
=)

() = Aluminum

Technical Data

Thread G1
Item no.

270.056 G1/2-female

ordering notes

4 x M8x16 screws included

Phone +49 (0)89 /96 24 89 - 0



Fittings, joints, spring plungers | Fittings §%

07,5
05,5
N G
- ()Y
o
e
< 210
015
Technical Data
Thread G1 Material / color
Item no.
270.067 Without NBR (sw) 80° Shore

© EASY MOUNTING DUE
© 70 ABRADABLE NOSE

025
0 14,5
L”Lﬁ
~ ®
~
™ L
s
Technical Data
Thread G1
Item no.
270.419 Without

Ordering notes

Suitable mounting means: Item No. 90.007

www.fipa.com

98
96
]
wl 5 | 8
sl ™ "
=
o
\"/ 013
A 025

Technical Data

Item no.
270.068

Thread G1

Without

Material / color

NBR (sw) 80° Shore

FiPA

Material in Motion

477




= % Fittings, joints, spring plungers | Fittings

Carrier plates SZ-NIP-T

Technical Data Dimensions

5 N _ _
Item no. = = @ = = =
270.332 Without 266 260 30 24 8 5,5
Carrier plates SZ-NIP-T
Technical Data Dimensions
‘ d1 ‘
Y 1 N z T € £ E
N I\ —
270.233 G1/8-female G1/8 6 3,1 17,5 14,9
‘ ‘ 270.234 G1/8-female G1/8 6 3 21 17,5
270.235 G1/8-female G1/8 5,5 2,1 28,5 25
270.289 G1/8-female G1/8 10 3 29 20
270.179 G1/4-female G1/4 20 14,5 43 32
270.262 G1/8-female G1/8 10 3 44 40
270.284 G1/4-female G1/4 10 3 44 40
270.338 M12x1,75-female  M12x1,75 |10 3 55 45
270.180 G1/4-female G1/4 20 14 60 50
270.158 G1/8-female G1/8 11 3 63 59
270.264 G1/4-female G1/4 11 3 63 59
270.161 G3/8-female G3/8 11 3 63 59
270.286 G1/2-female 61/2 11 3 63 59
270.224 G1/4-female G1/4 11 3 92 88
270.167 63/8-female G3/8 11 3 92 88
270.266 G1/2-female 61/2 11 3 92 88
270.164 G1/8-female G1/8 11 3 95 88
270.171 G1/4-female G1/4 15 4 127 120
270.173 G3/8-female G3/8 15 4 127 120
270.268 G1/2-female G1/2 15 4 127 120
270.335 G1/2-female G1/2 20 14 160 150

a5 FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Fittings &€ %

Carrier plates SZ-NIP-T

. . . .
NN EEN = Technical Data Dimensions

] . = E E
4x M8x10 =) = £ = E E
5] = £
(Y = = - o~ T
= - ~ — — o = =
b = o o == = () (] [S)
270.070 G3/4-female  G3/4 |G1/8 |135 |3 215 190 166
R2
a 270.076 G3/4-female  G3/4 |G1/8 |135 |3 315 309 285 L
42
Carrier plates SZ-NIP-T L
11
= | | . . . p—
<L MMM I T Technical Data Dimensions
f f
- & — .
- C) o @ o = = € = €
o E. £ £ g £
Item no. = = ) = = b=
L 270.465 M12-female 135 130 60 55 1 2,8 S
Carrier plates SZ-NIP-T
Technical Data Dimensions
Y Ah . S
L =
j
i)
11 b=l = = = € = ‘€
L § g = £ E £ £
Item no. = ) = = ® 35 = =
G1 270.508 G1/8-female  G1/8 |52 48 25 22 9 5,5
—OSOGOGOrE <= 270.509 G1/4-female  G1/4 |60 56 29 25 9 5,5
N N
\a§w§%5¥§«§§s&&“ P T 270392 G1/4-female  G1/4 |80 75 30 25 9 5,5
270.510 Gl/4-female  G1/4 |80 75 40 35 9 5,5
270.511 Gl/4-female  G1/4 |80 75 50 44 9 5,5

www.fipa.com FIPA 479

Material in Motion



E% Fittings, joints, spring plungers | Fittings

Carrier plates SZ-NIP-T

& Technical Data Dimensions
_ \\\“ D\ - -
= o . = £ £
NN\ NN\ © E = E £
5 = — — ~
— = — o © ©
= = S S S
270.270 Without 23 12,5 68 32 8
B 270.269 Wwithout 23 12 130 50 8
Carrier plates SZ-NIP-T
Technical Data Dimensions
5 = = E €
NN E 2 = £ = E
B E = o S s -
= == 4= [S) [S) [S) o
D 270.415 Without 8 48 95 86 62
270.155 Without 8 4 158 148 123
] 270.236 G1/2-female 8 4 196 186 167 G1/2
— 270.535 Without 10 5 237 227 198

50 IFalPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Joints

G threaded ball joints, Series SZ-GKG

Product Description Advantage

> Universal articulating mount for vacuum cups
> Version: Ball and socket with 0-ring seal

> Compensation for sloping surfaces of the product
> Angle compensation for sagging products such as sheet goods

Technical Data

Thread suction side G2 Thread at the machine G1 | Pivoting range S [°] Lifting force [N]

Item no.
270.072 G1/8-male G1/8-female 2x15 300
270.073/1 G1/4-male G1/4-female 2x15 1500
270.075 G1/2-male G1/2-female 2x15 2500
Dimensions
G1
=
IN__"1
T
SW1
\ Z
1
=
G2 \
‘_A/
@ dn [mm] G1 G2 H [mm] h1 [mm] h2 [mm] SW1 S [°]
e 0
270.072 2 G1/8 G1/8 25 8,5 7 14 2x15
270.073/1 3,5 G1/4 G1/4 37 " 10 19 2x15
270.075 4 G1/2 G1/2 38,5 14 11,5 24 2x15

www.fipa.com

FiPA

Material in Motion

481




= % Fittings, joints, spring plungers | Joints

Metric threaded ball joints, Series SZ-GKG

Product Description Advantage
> Universal articulating mount for vacuum cups > Compensation for sloping surfaces of the product
> Version: Ball and socket with 0-ring seal > Angle compensation for sagging products such as sheet goods

ordering notes

Using a vacuum filter (e.qg. 71.023-71.025) prevents disruptions due to contamination

Technical Data

Thread suction side G2 Thread at the machine G1 Pivoting range S [°] Weight [g]
Item no.
270.185 M4-female M4-male 2x15 9
270.186 Mé6-female M6-male 2x15 20
270.187 M10-female M10-male 2x15 58
Dimensions
G1
S S 4@,
sW1 =
I [ ]
I I
==
~
=

G2 \SWZ

D
@D [mm] @ dn[mm] |G1 G2 H [mm] h1 [mm] h2 [mm] SW1 SW2 S[°]
0
270.185 15 2 M4 M4 19 4 7 4 -- 2x15
270.186 20 3 M6 M6 23 6 6,5 7 -- 2x15
270.187 28 6 M10 M10 30 10 9,5 12 24 2x15

s FiPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Joints

Rubber joints, Series SZ-GG

Product Description Advantage

> Compensation for sloping surfaces of the product
> Angle compensation for sagging products such as sheet goods
> Automatic reset of the vacuum cup to normal position

> Universal articulating mount for vacuum cups
> Version: Rubber-metal connection with vacuum channel

Technical Data

Thread suction side G2 Thread at the machine G1 | Pivoting range S [°] Lifting force [N] Weight [g]
270.199 G1/4-female G1/4-female 2x25 450 49
270.201 G1/4-female G1/4-female 2x10 850 75
270.202 G3/8-female G3/8-female 2x10 850 63
270.203 G1/2-male G1/2-female 2x12 3000 100
Dimensions
@® G1 SW1

T
2 [T 1
L
dn
G2
D
)= Brass/steel (2) = Rubber
@D [mm] @ dn [mm] G1 G2 H [mm] h1 [mm] h2 [mm] SW1 S[°]
e 0
270.199 30 5 G1/4 G1/4 46 8 8 17 2x25
270.201 30,5 9 G1/4 G1/4 32 9 9 25 2x10
270.202 30,5 11 G3/8 G3/8 32 9 9 25 2x10
270.203 - 6 G1/2 G1/2 33,5 14 14 27 2x12

www.fipa.com FIPA 483

Material in Motion



§% Holders, joints, spring plungers | Spring plungers at a glance

FIPA spring plungers

> Compensation for height tolerances of workpieces

> Protection of sensitive workpieces thanks to cushioned contact
of the vacuum cup

> Absorption of shocks and vibrations

> Suitable for highly dynamic handling applications

> Short cycle times are possible, thus very high efficiency

> Available for all vacuum cups in the standard range

spring plungers with internal spring and threaded connection, Series SZ-NIV-I
> Spring is protected from contamination and damage

> Spring deflection limiter for longer service life
I i > For more information, see page 485

— Standard spring plungers with threaded connection, Series SZ-NIV-S
> Universally applicable

> Also optionally available non-rotating
I i i i > For more information, see page 486

Heavy-duty spring plungers with threaded connection, Series SZ-NIV-HD

> Suitable for harsh operating conditions
> Leveling with stainless steel shaft and high-quality bearings
ﬁ > Also optionally available non-rotating

> For more information, see page 488

- Spring plungers with threaded connection
] > Universally applicable
> Large selection of connection threads available

> More information from page 490

Spring plungers for direct mounting of vacuum cups - Series SZ-NIV-DI and -DA
> Mounting directly on the vacuum cup without additional fitting

> Variants with internal or open spring available

> Rotation-protected models available

> Models available with spring deflection limit

> More information from page 494

s FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Spring plungers

Spring plungers with internal spring and threaded connection Series SZ-NIV-I

Spring plungers with internal spring and threaded connection Series SZ-NIV-I

Product Description

Advantage

Leveling with internal spring protected from dirt and with spring deflection limiter.
Vacuum connection on top. Vacuum channel via plunger rod.

> Compensate for height differences
> Soft attachment for sensitive products
> Protected spring

Technical Data

Model Thread suction side G2 Lift C [mm] Weight [q]
Item no.
50.120 SZ-NIV-I-M5-1G-7 M5-female 7 17
50.123 SZ-NIV-I-G1/8-AG-8 G1/8-male 8 41
50.124 SZ-NIV-I-G1/8-AG-20 G1/8-male 20 73
Dimensions
G3
G1 I
G3
G1
[ =
IL 1 _‘;I L
[ 1
“_JJ SW 1
SW1
™ pu [aa]
= = =
o
o
™ M
_‘; 1 1
| [ [ ]
62 . ]
G2
50.120 50.123 | 50.124
H [mm] h1 [mm] h2 [mm] h3 [mm] SW1 G1 (female) | G2 (female) | G2 (male) G3 (male) C [mm]
0
50.120 44 4,3 5 19 14 M5 M5 G1/8 7
50.123 50 10 6 22 19 G1/8 G1/8 M14x1,5 8
50.124 73 12 5,6 35 21 G1/8 G1/8 M16x1 20

www.fipa.com

FiPA

Material in Motion

485



= % Fittings, joints, spring plungers | Spring plungers

Standard spring plungers with threaded connection Series SZ-NIV-S

Standard spring plungers with threaded connection Series SZ-NIV-S

o

I Product Description Advantage

Leveling as standard version.
Optionally also available non-rotating.
Vacuum connection on top. Vacuum channel via spring plungers.

> Compensate for height differences
> Soft attachment for sensitive products

Technical Data

Thread suction side G2 Lift C [mm] Weight [g] Non-rotating
] 50.158 SZ-NIV-S-M5-1G-5 M5-female 5 17
50.149 SZ-NIV-5-M5-1G-10 M5-female 10 18 -
50.152 SZ-NIV-S-M5-1G-10-VS M5-female 10 19 Yes
50.150 SZ-NIV-S-M5-1G-20 M5-female 20 20
50.153 SZ-NIV-S-M5-1G-20-VS M5-female 20 21 Yes
50.230 SZ-NIV-S-G1/8-AG-15 G1/8-male 15 94 ==
50.161 SZ-NIV-S-G1/8-AG-15-VS G1/8-male 15 85 Yes
— 50.160 SZ-NIV-S-G1/8-AG-25 G1/8-male 25 94 --
50.162 SZ-NIV-S-G1/8-AG-50 G1/8-male 50 110 --
50.231 SZ-NIV-S-G1/8-AG-50-VS G1/8-male 50 110 Yes
- 50.164 SZ-NIV-S-G1/4-AG-25 G1/4-male 25 136 -
] 50.232 SZ-NIV-S-G1/4-AG-25-VS G1/4-male 25 94 Yes
50.166 SZ-NIV-S-G1/4-AG-75 G1/4-male 75 195 --
50.233 SZ-NIV-S-G1/4-AG-75-VS G1/4-male 75 202 Yes

a6 FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Spring plungers & %

Standard spring plungers with threaded connectin Series SZ-NIV-S

Dimensions
G3
G1
3 —
G =
=
SW 1 - w1
=
mM
z I I
T (o)
ju )
= u[
1 o
CI%
1
= L
o~
& l
G2
~
=
G2
50.230 | 50.161 | 50.160 | 50.162 | 50.231

|
50.158 | 50.149 | 50.152 | 50.150 | 50.153 50164 | 50232 | 50166 | 50.233

H [mm] h1 [mm] h2 [mm] h3 [mm] SW1 G1 (female) | G2 (male) G2 (female) | G3 (male) C[mm]
em no

50.158 43 55 6,2 15 14 M5 -- M5 G1/8 5

50.149 47 55 6,2 15 14 M5 -- M5 G1/8 10
50.152 47 55 6,2 15 14 M5 -- M5 G1/8 10
50.150 59 55 6,2 15 14 M5 -- M5 G1/8 20
50.153 59 55 6,2 15 14 M5 -- M5 G1/8 20
50.230 73,5 8 6,5 30 22 G1/8 G1/8 -- M16x1 15
50.161 73,5 8 6,5 30 22 G1/8 G1/8 -- M16x1 15
50.160 85 8,5 6,5 30 22 G1/8 G1/8 -- M16x1 25
50.162 118 8,5 6,5 30 22 G1/8 G1/8 -- M16x1 50
50.231 118 8,5 6,5 30 22 G1/8 G1/8 -- M16x1 50
50.164 86 13 9 40 24 G1/8 G1/4 -- M20x1,5 25
50.232 86 13 9 40 24 G1/8 G1/4 -- M20x1,5 25
50.166 145 13 9 40 24 G1/8 G1/4 -- M20x1,5 75
50.233 145 13 9 40 24 G1/8 G1/4 -- M20x1,5 75

Note

Recommendation: For the best possible service life do not exceed max. lift indicated.

www.fipa.com FIPA 487

Material in Motion



= % Fittings, joints, spring plungers | Spring plungers

Heavy-duty spring plungers with threaded fitting Series SZ-NIV-HD

Heavy-duty spring plungers with threaded fitting Series SZ-NIV-HD

I Product Description Advantage
Leveling with stainless steel shaft and high-quality bearings. Optionally also > Long life even under the toughest conditions
available non-rotating. > Compensate for height differences
Vacuum connection on top. Vacuum channel via spring plunger. > Soft attachment for sensitive products

Technical Data

Thread suction side G2 Lift C [mm] Weight [g / 0z7] Non-rotating
50.315 SZ-NIV-HD-G1/8-AG-15 G1/8-male 15 83/29
50.310 SZ-NIV-HD-G1/8-AG-15-VS G1/8-male 15 83/29 Yes
50.316 SZ-NIV-HD-G1/8-AG-25 G1/8-male 25 89 /3,1
50.311 SZ-NIV-HD-G1/8-AG-25-VS G1/8-male 25 89 /3,1 Yes
50.317 SZ-NIV-HD-G1/8-AG-50 G1/8-male 50 104 /3,7 --
50.312 SZ-NIV-HD-G1/8-AG-50-VS G1/8-male 50 104 /3,7 Yes
50.345 SZ-NIV-HD-G1/4-AG-25 G1/4-male 25 134 /4,7 ==
— 50.340 SZ-NIV-HD-G1/4-AG-25-VS G1/4-male 25 134 / 4,7 Yes
50.346 SZ-NIV-HD-G1/4-AG-50 G1/4-male 50 160 / 5,6 --
50.341 SZ-NIV-HD-G1/4-AG-50-VS G1/4-male 50 160 / 5,6 Yes
50.347 SZ-NIV-HD-G1/4-AG-75 G1/4-male 75 186 / 6,6 -
50.342 SZ-NIV-HD-G1/4-AG-75-VS G1/4-male 75 186 / 6,6 Yes
Dimensions
G3
G1
=
[aal
= 0]
SW 1
4:
==
=
o
L=
_—
=
[ ]
~
=
G2

s FPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Spring plungers & %

Heavy-duty spring plungers with threaded fitting Series SZ-NIV-HD

C [mm] H [mm] h1 [mm] h2 [mm] h3 [mm] SW1 G1 (female) | G2 (male) G3 (male)
em no
50.315 15 72 8 8 30 22 G1/8 G1/8 M16x1
50.310 15 72 8 8 30 22 G1/8 G1/8 M16x1
50.316 25 85 8 8 30 22 G1/8 G1/8 M16x1
50.311 25 85 8 8 30 22 G1/8 G1/8 M16x1
50.317 50 116 8 8 30 22 G1/8 G1/8 M16x1
50.312 50 116 8 8 30 22 G1/8 G1/8 M16x1
50.345 25 85,5 12 8,5 40 24 G1/8 G1/4 M20x1,5
50.340 25 85,5 12 8,5 40 24 G1/8 G1/4 M20x1,5
50.346 50 115 12 8,5 40 24 G1/8 G1/4 M20x1,5
50.341 50 115 12 8,5 40 24 G1/8 G1/4 M20x1,5
50.347 75 144,5 12 8,5 40 24 G1/8 G1/4 M20x1,5
50.342 75 144,5 12 8,5 40 24 G1/8 G1/4 M20x1,5

Note

Recommendation: For the best possible service life do not exceed max. lift indicated.

www.fipa.com FIPA 489

Material in Motion



= - Fittings, joints, spring plungers | Spring plungers

i

490

Spring plungers with thread connection

24

ey t
S

SW 19

19

i; SW 14

30

Y

]
J

M12x1,25

S RRRRRRN S HaNel

SIRRNNARNNY

5,5

\aUAAAAAAA\

HHHEEHERE

r
2

G2

Technical Data Technical Data

Thread Lift C[mm] | Weight [qg] Thread Lift C Non- Weight H [mm]
suction side suction [mm] rotating | [q]
Item no. (] Item no. side G2
50.121 M5-male 10 28 47 50.054 M8-male 25 Yes 83 89
50.122 M5-male 20 31 57
NON-ROTATING
........................ .5 M35 %15
T =
KM 7
2
I
T == T % o
0] L —
;% o %
T %
1] A
2 —
62 62
Technical Data Technical Data
Thread Lift C Non- Weight H [mm] Thread Lift C[mm] | Weight[g] | H[mm]
suction [mm] rotating | [q] suction side
Item no. side G2 Item no. G2
50.051 M12-male 15 Yes 196 115 50.101 M16-male 35 685 115
50.052 M12-male 50 Yes 236 151 50.102 M16-male 80 798 173
50.053 M12-male 73 Yes 268 183
Note

Without vacuum connection

FPA

Material in Motion

Phone +49 (0)89 /96 24 89 - 0



Fittings, joints, spring plungers | Spring plungers

M16x1,5
m>
SW 22
(
C
mM
pm
_——
= @)
=
=
[ ]
~
M5
G2

Technical Data

Thread Lift C Non- Weight H [mm]
suction [mm] rotating | [q]
Item no. side G2
50.066 e 15 Yes 70 68
male
Note
with plastic slide bearings
06
L
©
SW 19
2 ¢ J
M12x1,5
==y
o
a |
~ @l
G2
21

Technical Data
Thread Lift C[mm] | Weight [g]

suction side
Item no. G2

50.021 G1/8-female 25 75

www.fipa.com

Spring plungers with thread connection

24

SW 19

C D)
J

- M 12 x 1,25

30
Y

C

mEslaaaaaa

a
\J

Technical Data

Thread Lift C Non- Weight H [mm]
suction [mm] rotating | [q]
Item no. side G2
50.055 G- 25 Yes 64 92
male
NON-ROTATING
...................... i g6
Lﬁ\
O
- SW 19
C )
o
“ C J
M12x1,5
B
<::I> (&}
jununy
o
pram!
famnst
pun:
=) I
- I
G2
Technical Data
Thread Lift C Non- Weight H [mm]
suction [mm] rotating | [q]
Item no. side G2
50.056 e 25 Yes 63 100
female

FFiPA

Material in Motion

491

i




= % Fittings, joints, spring plungers | Spring plungers

Spring plungers with thread connection

40

Q6

SW 27

M18x1,5

G2

Technical Data

07
SW 30

i SEuE
Iv[ \]MZO

22

— A

Technical Data

Thread Lif
suction side
Item no. G2

t C[mm]

- Thread Lift C[mm] | Weight [qg]
— suction side
Item no. G2
50.028 G1/8-female 25 240 119
50.029 G1/8-female 50 280 157
_ 50.030 G1/8-female 75 310 194
Q7
l
SW 24
[
=) || |
) ]
T T } T M20x1,5
>
o
Lﬁ\
,:‘
- .
G2

Technical Data

Thread
suction side
Item no. G2

50.106 G1/4-female

FPA

Material in Motion

492

45

Lift C [mm]

Weight [g] | H[mm]

250 167

50.105 G1/4-female 15 245
50.107 G1/4-female 70 318
M 20X 1,5
G1/8
SW 24
~
-
L >
i
| _—
]
E= | b
< o
="
-
| _—"
—
| _L—>
—
="
T 1
m\
=
G2
Technical Data
Thread Lift C[mm] | Weight [g]
suction side
Item no. G2
50.050 G1/4-female 42 122

Phone +49 (0)89 /96 24 89 - 0

Weight [q]



Fittings, joints, spring plungers | Spring plungers §%

Spring plungers with thread connection

M35x1,5 M35x1,5
07
9
- 2
(I
KM7
KM 7
o
[¥a}
L I J )
5 1
== ( H! ] - z
= o
e ]
o B —
L =
G2 G2 L
Technical Data Technical Data
Thread Lift C[mm] | Weight [g] | H[mm] Thread Lift C[mm] | Weight [g] | H[mm] .
suction side suction side —
Item no. G2 Item no. G2
50.092 G3/8-male 35 638 150 50.138 G1/2-male 35 631 150
50.139 G1/2-male 80 750 210

www.fipa.com FIPA 493

Material in Motion



= % Fittings, joints, spring plungers | Spring plungers

Spring plungers for direct vacuum cup mounting - internal spring, Series SZ-NIV-DI

494

Spring plungers for direct vacuum cup mounting - internal spring, Series SZ-NIV-DI

Product Description Advantage

Leveling with internal spring protected from dirt and with spring deflection limiter. : gg?giﬂaﬁﬁ:{[ ?grlggztngil;f\?ere;r%e(jsucts

Vacuum cup is pl‘ugged directly onto the SPrINg plun'gen > Direct mounting on the vacuum cup - no additional fitting required
Vacuum connection on top. Vacuum channel via spring plunger. > Protected spring

Technical Data
Lift ¢ [mm)] Weight [g]

Item no.

Internal spring

Non-rotating

Hose outside @ [mm)]

50.330 10 19

50.103 6 34 Yes 6
50.104 6 33 Yes 4
50.125 10 36 Yes 6
50.126 15 11 Yes 6
50.127 20 48 Yes 6
50.085 6 36 Yes 6
50.086 6 36 Yes 4
50.128 10 36 Yes 6
50.129 15 41 Yes 6
50.130 20 48 Yes 6
With plastic body and internal spring

50.018 8,5 21 4
50.019 8,5 22 6
50.020 8,5 23 6

FPA

Material in Motion

Phone +49 (0)89 /96 24 89 - 0



Fittings, joints, spring plungers | Spring plungers

Spring plungers for direct vacuum cup mounting - internal spring, Series SZ-NIV-DI

Dimensions
G3
d1
d1
SW 1
G3
" SW 1 o —
= T | |
x i1
oy
|| o L
(] =|
i
SW2 42 I
*H,A
d3
50330 50.103 | 50.104 | 50.125 | 50.126 | 50.127
: 50.085 | 50.086 | 50.128 | 50.129 | 50.130 L
G3 G3 —
di1 d1
|— *’—'47
: SW 1 7
SW1
= o CLIT) = o
= [ III IH :l
o
I i
\o A
@
d2 N d2
50.018 | 50.019 50.020
OF Mounting screw (2) = Plastic body
@ d1 [mm] @ d2 [mm] @ d3 [mm] G3 H [mm] h3 [mm] SW1 SW2 C[mm]
e 0
50.330 4,3 - 6 M8x0,75 68 18 12 10
50.103 6 M4 6,3 M14x1 52 20 17 + 6
50.104 4 M4 6,3 M14x1 52 20 17 + 6
50.125 6 5 6 M14x1 56 20 17 3 10
50.126 6 5 6 M14x1 67 25 17 3 15
50.127 6 5 6 M14x1 83 34 17 3 20
50.085 6 7 10 M14x1 52 20 17 3 6
50.086 4 7 10 M14x1 52 20 17 3 6
50.128 6 7 10 M14x1 58 20 17 3 10
50.129 6 7 10 M14x1 68 25 17 3 15
50.130 6 7 10 M14x1 83 34 17 3 20
50.018 4 5 9 M16x1 45 20 19 - 8,5
50.019 6 5 9 M16x1 46,5 20 19 - 8,5
50.020 6 5 7,3 M16x1 42,5 20 19 - 8,5

www.fipa.com

FFiPA

Material in Motion

495



= % Fittings, joints, spring plungers | Spring plungers

Spring plungers for direct vacuum cup mounting - spring open, Series SZ-NIV-DA

Spring plungers for direct vacuum cup mounting - spring open, Series SZ-NIV-DA

I Product Description Advantage

> Compensate for height differences
> Soft attachment for sensitive products
> Direct mounting on the vacuum cup - no additional fitting required

Leveling with an open spring. Vacuum cup is plugged directly onto the spring
plunger.

Technical Data

Lift C [mm] Non-rotating Hose outside @ [mm] Weight [g]

Spring open, with deflection limiter and protection against rotation.

50.095 20 Yes 6 51
I 50.096 30 Yes 6 57
— 50.097 40 Yes 6 62
50.098 50 Yes 6 67
50.170 20 Yes 6 51
- 50.171 30 Yes 6 57
] 50.172 40 Yes 6 62
50.173 50 Yes 6 67
50.174 20 Yes 6 51
50.175 30 Yes 6 57
50.176 40 Yes 6 62
50.177 50 Yes 6 67
- Open spring standard.
50.141 10 -- -- 12
50.005 5 -- -- 23
50.148 5 Yes -- 19
50.145 10 - - 39
50.146 30 = = 46
50.037 25 == oo 69
I 50.039 25 o= — 71
50.041 25 == == 74

w6 FiPA Phone +49 (0)89 /96 24 89 - 0

Material in Motion



Fittings, joints, spring plungers | Spring plungers
Spring plungers for direct vacuum cup mounting - spring open, Series SZ-NIV-DA

Dimensions
G3
a1
. G3
‘!“!‘ Fr ] swi
L SW1 .
=
= 4
L o G1
e \FTO |
=
= 42
SW 2 d2 d3
d3
s | e | oy | smom | o | sorn so101 1 005 | snae | 50005 |
G3
1.d1]
SW1
w C J
=l C J
pu
= .
=
=
C )
-
RE
50.037 | 50.039 | 50.041
(1) = Mounting screw M6
@d1[mm] |@d2[mm] |@d3[mm] |G1 G3 H [mm] h1 [mm] h3 [mm] SW1 SW2 C[mm]
em no
50.095 6 7 10 -- M14x1 61 - 9 17 3 20
50.096 6 7 10 -- M14x1 75 - 9 17 3 30
50.097 6 7 10 -- M14x1 87 - 9 17 3 40
50.098 6 7 10 -- M14x1 100 9 17 3 50
50.170 6 6 15 -- M14x1 61 9 17 3 20
50.171 6 6 15 -- M14x1 75 - 9 17 3 30
50.172 6 6 15 - M14x1 87 - 9 17 3 40
50.173 6 6 15 -- M14x1 100 - 9 17 3 50
50.174 6 6 20 -- M14x1 61 - 9 17 3 20
50.175 6 6 20 -- M14x1 75 - 9 17 3 30
50.176 6 6 20 -- M14x1 87 9 17 3 40
50.177 6 6 20 -- M14x1 100 9 17 3 50
50.141 5 7 M5 M10x1 40 12 14 8
50.005 8 11 M5 M12 43 16 19 5
50.148 8 11 M5 M12 40 12 17 5
50.145 8 1 M5 M12 44 15 17 10
50.146 - 8 11 M5 M12 65 15 17 30
50.037 4 - 55 M12x1,5 89 7 30 19 25
50.039 4 7,5 M12x1,25 89 10 30 19 25
50.041 4 12 -- M12x1,25 89 15 30 19 25

www.fipa.com

FFiPA

Material in Motion

i

497




